Wy

peritus

UGC NET Commerce- Previous Years Question Papers

Inany UGC NET exam, you will find large number of questions appearing from previous papers. So whatever
sources/books/websites/coaching you are preparing from, going through previous papers is a MUST.

So, how to make best use of these question papers ? Start solving papers one by on. While solving each
question, try to understand the “entire concept” not just the given “question”. For example, if question is:

Which of following is not one of 4 Ps of marketing?
(A) Product (B) Price (C) Place (D) Process

Now do not just look for the Answer (Option D)? Also find out, what exactly is 4 Ps of marketing? Which
management Guru gave this concept? What each P stand for? What are additional 3 Ps for Services? etc. Do
not just solve the particular question...Learn the Concept...Questions will not repeat in next exam...Concepts
will repeat...You should be equipped handle any question on 4 Ps of Marketing, just because you did one
guestion.

Please mind it that, it will take time. May be 8-10 hours for each paper.... But if you attempt all previous
years’ papers with this approach, no one can stop you from getting very good score in UGC NET.

Human Peritus courses have been designed with this approach only. By doing it over the years, we have
reached a stage, where consistently more than 85-90% of questions in the exam, are from our course. Check
the website of HUMAN PERITUS, to understand how thousands of students are clearing UGC NET with us.
If you have something else on your mind, you may connect with our team.

Email- contact@humanperitus.com

Phone- 9717781110
Website- humanperitus.com

All the Best.

HUMAN PERITUS
Www.humanperitus.com



PAPER-III
COMMERCE

Signature and Name of Invigilator

1.

2.

B0 CH

(Signature)
(Name)
(Signature)
(Name)

3

Time : 2 %/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 75

Instructions for the Candidates

wdenteat & oo e

1. Write your roll number in the space provided on the top of | 1. 39 g & S HId TH W AT I T=R fdAf@u |
this page. 2. T U0 H JEETR Sglohedid e ¥ |
2. This paper consists of seventy five multiple-choice type of | 3. trﬁgn TRAT g W, TeA-JRsT SMushl ¥ & SR | Uee
questions. o _ ure e It ueE- GioH T STH! e
3. At the commencement of examination, the question booklet St o T o SR, S IR 3T FEAT ©
will be given to you. In the first 5 minutes, you are requested (i) WW @aﬁ & foTT ST e UST OT oIt ShiTst
to open the booklet and compulsorily examine it as below : Al q;@' g} | g;ﬁ E—g a7 o ST ot
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept (ii) waw W w ﬁg—mq-gw : * g qer
a booklet without sticker-seal and do not accept an open T B S WE 9% T o 76 3 ™
booklet. gﬁwﬁ uRasr e Y
(i) Tally the number of pages and number of questions i}l Ao AR g T ggimiﬂ wag%m g
in the booklet with the information printed on the WER T HF T2 W g9 39
cover page. Fau_lty booklets c_iue to pages/questions T A W T mm e
missing or duplicate or not in serial order or any % fow st dte fee B R 1S9 T T
other discrepancy should be got replaced immediately A aE v ORaeET e @ SR S T @ et
by a correct booklet from the invigilator within the st wwa Frar e
period of 5 minutes. Afterwards, neither the Question < ; fecrer
Booklet will be replaced nor any extra time will be (111)1?{:{ ol a?{golMR T W T -
given. e S —
(iii) After this verification is over, the OMR Sheet Number 4 ™ E ?Waﬂ%%w & et ﬁ(é\:% éB%)T{éS{) %(%ﬁg
should be entered on this Test Booklet. b B ferm a7
4. Each item has four alternative responses marked (A), (B), (C) @ . . ®
and (D). You have to darken the circle as indicated below on (C). e |
the correct response against each item.
Example : @p g. 0) 5. = ST %A UY YRaaht & A=Y 7 T OMR REER L
where (C) is the correct response. &t aifepet e € | 3 3T OMR Wik WX 12 771 o7t o el
5. Your responses to the items are to be indicated in the OMR fepit a1 T W S Fereiiehet 7 €, Al SHeh! Hedisht
Sheet given inside the Booklet only. If you mark at any TR & | )
place other than in the circle in the OMR Sheet, it will notbhe | 6. 3<Y 3 ™ et Eﬁ
evaluated. 7. e %M (Rough Wor %ma gﬁ?—m €h' FH g WA |
6. Read instructions given inside carefully. 8. df¥ 3T OMR W% W M & AT IO A, A
7. Rough Work is to be done in the end of this booklet. TR, B Y T7 g o v foe e ekt vew a8
8. If you write your Name, Roll Number, Phone Number or put Th, e gen T STYET YT 9T 1 YA S %, T HIe
any mark on any part of the OMR Sheet, except for the space 3 SO WEE B WA R €, 99 & sifea T
allotted for the relevant entries, which may disclose your AT FI THSHT a7 9%E WRl § S5a T af 9eT & o
identity, or use abusive language or employ any other unfair I ity Y ST 9y §
means such as change of response by scratching or using [ ¢ aept Tder T B9 T T gl Td §eT OMR W5ieh
white fluid, you will render yourself liable to disqualification. e TRleT F ST EYEE § AT q’ﬁ&ﬂ T & &
9. You ha\(]e to ret#rn the }est questri]on bé)ol]fle;]t and Original 3T o W T Yo § 9T F 9FK 9 | EliE e
OMR Sheet to the invigilators at the end of the examination i W
compulsorily and must not carry it with you outside the :ﬁ:g% ™ OMR % #i T ST e e <
Examination Hall. You are, however, allowed to carry duplicate
copy of OMR Sheet on conclusion of examination. 10. aﬁ?g g??ﬁm Ll AE U7 A A g ﬁanﬁ'
10. Use only Blue/Black Ball point pen. 11. T T HTOTE A AT T
11. Use of any calculator or log table etc., is prohibited. AT Al ¥ | . C s
12. There is no negative marks for incorrect answers. 12. Wﬁﬁ%ﬁr{raﬁéw FHTHE
13. In case of any discrepancy in the English and Hindi versions, | 13. 3% SISt a1 fét feremor # i€ fergfet @, ot st fomor
English version will be taken as final. ST /AT SO |
D-08-13 P.T.O.



COMMERCE
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The present regime of subsidies can
be improved by focussing on

(i) Reducing the overall scale of
subsidies.

(i)  Making subsidies as
transparent as possible.

(iii) Giving a specific amount to the
Member of Parliament for
subsidies.

(iv) Setting clear limits on duration
of any new subsidy scheme.

(v) Eliminating system of periodic
review of subsidies

(vi) Using subsidies for well-
defined economic objectives.

Codes :

(A) (i), (i), (iii) and (iv)
(B) (i), (iii), (iv) and (v)
(C) (i), (iii), (iv) and (vi)
(D) (i), (ii), (iv) and (vi)

Which of the following is not
regulated by The Competition Act,
2002 ?

(A) Abuse of dominant position
(B) Anti-competitive agreements
(C) Medical negligence

(D) Predatory pricing
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The freedom of private enterprise is

the greatest in the free market

economy. This is characterized by
which of the following assumptions ?

(i) The factors of production
(labour, land, capital) are
privately owned and production
occurs at the initiative of the
private enterprise.

(i)  Income is received in monetary
form by the sale of services of
the factors of production and
from the profits of the private
enterprise.

(ili) Members of the free market
economy have freedom of
choice in so far as consumption,
occupation, savings and
investments are concerned.

(iv) The free market economy is not
planned, controlled or
regulated by the government.

(v) The free market economy is
prone to corrupt practices.

Codes :

(A) (), (i) and (iii)

(B) (i), (ii), (iii) and (iv)

(C) (i), (ii), (iii), (iv) and (v)

(D) (i), (i), (iv) and (v)

The important responsibilities of a

business to the customers are

(i)  To ensure family welfare of the
customers.

(i)  To understand customer needs
and to take the necessary
measures to satisfy these needs.

(ili) To ensure health condition of
the customers.

(iv) To ensure that the product
supplied has no adverse effect
on the customer.

(v) To provide an opportunity for
being heard and to redress
genuine grievances.

Codes :

(A) (i), (i), (iii), (iv) and (V)

(B) (i), (ii), (iii) and (iv)

(C) (i), (iv) and (V)

(D) (i), (iii), (iv) and (v)
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The rationale of expanding role of
the public sector stems mainly from
which of the following factors ?

(i)  The failure of the private sector
in certain crucial areas

(i)  The exploitation of the society
by the private sector

(ili) The revenue need of the
Central Government

(iv) The demand of economic
justice

(v) The need for accelerating the
pace of economic growth

Codes :

(A) (i), (i), (iii) and (iv)

(B) (i), (iii), (iv) and (V)

(C) (i), (iii), (iv) and (v)

(D) (i), (ii), (iv) and (v)

Which of the following factors may

lead to a sick industrial unit ?

(i) Shortage of funds and faulty
financial management

(i) Investment by the FlIs in
Indian industries

(iii) Unauthorized FDI in Indian
industries

(iv) Lack of experience on the part
of promoters

(v) Technological factors including
obsolete or improper technology

Codes :

(A) (i), (i), (iii) and (iv)

(B) (i), (iii), (iv) and (v)

(C) (D). (iv) and (v)

(D) (i), (i) and (iii)

Indicate what is not correct in respect

of the Consumer Protection Act,

1986.

(A) No complaint can  be
entertained in respect of a
product purchased more than 2
years back.

(B) A complaint against medical
negligence can be filed by legal
heir or representative of the
deceased.

(C) A complaint involving a claim
of ¥ 15 lakhs is to be filed
before the State Commission.

(D) Both (A) and (C)
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10.

11.

12.

If bonus shares are issued out of pre-

acquisition profit, it will have

(A) Direct effect on the
Consolidated Balance Sheet

(B) No effect on the Consolidated
Balance Sheet

(C) No effect on Net Profit

(D) None of the above

The present value of the future
contributions of employees is one of
the methods of

(A) HR Accounting

(B) Inflation Accounting

(C) Social Accounting

(D) Responsibility Accounting

A standard which can be attained
under the most favourable working
conditions is called

(A) Attainable Standard

(B) Basic Standard

(C) Current Standard

(D) Ideal Standard

Which of the following ratios are
taken into consideration by a banker
before sanctioning the loan ?

(A) Proprietory Ratio

(B) Stock-Turnover Ratio

(C) Debt-Equity Ratio

(D) All of the above

Match the items of the following two
lists :

List— 1 List— 11
(i) Zero-base (@) Internal
Budgeting Reconstruction
(if) Goodwill or (b) Earnings Per
Capital Reserve Share

(iii) Reduction of (c) Control  of

Capital Expenditure
(iv) Basic & (d) Business

Diluted Combination
Codes :

(1) () (i) (iv)

(A) (© (d (b (@
(B) (d) () (@ (b)
(€) (d) (@ () (b)
(D) (© @ @ (b)
D-08-13
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13. Assertion (A) : Dividend paid out
of pre-acquisition profit by the
subsidiary company to the
holding company is deducted
from the cost of investment.

Reason (R) : Dividend paid out
of pre-acquisition profit by the
subsidiary company should be
treated as a return of capital to
the holding company.

Which one of the following is correct ?

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong.

(C) (A) iswrong, but (R) is correct.

(D) Both (A) and (R) are wrong.

14. Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Increasing the value
of closing inventory increases
profit.

Reason (R) : Increasing the value
of closing inventory reduces
cost of goods sold.

In the context of the above two

statements, which of the following is

correct ?

Codes :

(A) Both (A) and (R) are correct.

(B) Only (A) is correct.

(C) Only (R) is correct.

(D) Both (A) and (R) are wrong.

15. Match the items of List — | with the

items of List — Il and select the

correct code for the answer :
List—1 List—11

(@) Multiple (i) MRP; = MC =
plants MRP, = MRP,,

(b) Cost-plus (ii)) MRT = MC =
pricing MR, = MR,

(c) Multiple (iii)MR = MC; =
markets MC, = MCy

(d) Multiple (iv)P=(1+m) ATC
products

Codes :
@ [ (© (@

(A) (iv) (i) () (i)

(B) (i) (i) (iv) (ii)

(C) (i) (1) (i) (iv)

(D) (i) (iv) (i) (i)
Paper-111

16.

17.

18.

19.

20.

A measure of the responsiveness of
quantity demanded to changes in the
price of a related good is known as
(A) Cross Elasticity of Demand

(B) Substitution  Elasticity  of
Demand

(C) Complementary Elasticity of
Demand

(D) Price Elasticity of Demand

If the total cost is ¥ 260 and the total
variable cost is ¥ 60, what will be
total fixed cost if output is (a) 100
units and (b) 200 units ?

(A) T 200and?% 200

(B) ¥ 100and? 200

(C) ¥260and? 100

(D) 160 and? 100

Optimal  input combination to

minimize the cost for a given output

will be at the point where :

(A) Isocost is tangent to Isoquant

(B) MRTS between inputs is equal

(C) Any movement from optimum
point will lead to low level of
output

(D) All the above conditions are
fulfilled.

What kinds of actions can be taken to
put the rivals at a disadvantageous
position under oligopoly market ?
(A) Commitments

(B) Threats

(C) Promises

(D) All the above

There is no exceptions to the law of
demand in the case of
(A) Giffen goods
(B) Normal goods
(C) Articles of
consumption
(D) Ignorance of the buyer

D-08-13
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21.

22.

23.

24,

What is the degree of elasticity of
demand in case the demand is
represented by a straight line parallel
to the x-axis ?

(A) e>1

(B) e=0

(C) e=«x

(D) e<1

If a chi-square test is to be performed
on a contingency table with 3 rows
and 4 columns, how many degrees of
freedom should be used ?

(A) 6

(B) 12

(C) 8

(D) 9

Assertion (A) : If regression co-
efficient of X on Y is greater
than one, regression co-
efficient of Y on X must be less
than one.

Reason (R) : The geometric
mean between two regression
coefficients is the co-efficient
of correlation.

On the basis of the above, choose the

appropriate answer :

(A) (A)and (R) are correct.

(B) (A) is correct, but (R) is not

correct.

(C) (A) is not correct, but (R) is
correct.

(D) Both (A) and (R) are not
correct.

If the sum of squares of deviations
within samples is 140 with 12
degrees of freedom and the sum of
squares of deviations between
samples is 190 with 2 degrees of
freedom, the test statistic will be

(A) 814

(B) 12.28

(C) 8.14

(D) 1.22
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25.

26.

27.

28.

The regression equation of profits (X)
on sales (Y) of a firm is given as :
3Y —5X + 110 = 0. If the sales of the
firm is ¥ 44,000, the profit will be
(A) T 23,370 (B) 26,422
(C) 24,422 (D) % 21,370

Cricketer ‘A’ scores on an average
40 runs with a standard deviation of
5. Scores of players ‘B’ and ‘C’, on
an average, are 75 and 90 with
standard deviations 10 and 18
respectively. Arrange the players in
the descending order of consistency :
(A) A,BandC
(B) C,Band A
(C) B,AandC
(D) C,AandB

Among the following, choose the
most suitable ‘test” that can be
applied to examine the influence of
one factor on different groups :

(A) “t’ test

(B) “F’ test

(C) “Chi-square’ test

(D) None of the above

A machine produced 20 defective
articles in a batch of 400. After
overhauling, it produced 10%
defectives in a batch of 300. Which
test of hypothesis can be applied to
the above situation to examine
whether the machine has improved ?

(A) Test of significance of a sample
proportion (two-tail test)

(B) Test of significance of a sample
proportion (one-tail test)

(C) Test of significance of
difference between two sample
proportion (two-tail test)

(D) Test of significance of
difference between two sample
proportion (one-tail test)
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21.

22.

23.

24,

i [AT T X-37T o THEMA T Fa@r
¥ T AT § Al WAT Bl A B
(fetit) = gt 2

(A) e>1

(B) e=0

(C) e=«x

(D) e<l1

Il STHNHBAT dleTehl S8l 3-Ufear uel
4T € G T @RI 0T S 8,
@ T i g Hife 1 ST BT
ey 2

(A) 6

®) 12

(C) 8

(D) 9

e (A) ;3 Y T X 1 Uidqs=or
ol Tk | SART E, Al X WY
T AL T[T Th § FH AT
qMET |

FRUT(R) 3 Wfas@or o &
T A T W i
T & |

I o 3MER T 3fad IR GHT

(A) (A) 3R (R) &l & |

(B) (A) W& &, =] (R) W&l &l € |

(C) (A) Tl &l &, W= (R) W&l & |

(D) (A) 3R (R) I W&l =i € |

i ufden o oY fageHt & at

TNT 140 ¥ 3 Wa=ar & S 12§,

3R U= & S oot & ot &1 3

190 & R = = Ao 2 &

TRIeToT HifETeh B

(A) 81.4

(B) 12.28

(C) 8.14

(D) 1.22

D-08-13

25.

26.

27.

28.

woH fam (v) ® e (X)
FH qHIer gHeoT EfatEd § o
3Y - 5X + 110 = 0. afs %d =i foenr
% 44,000 =i €, AT T 8N

(A) T 23370

(B) T 26422

(C) T 24422

(D) % 21,370

T fshehe fEeTrel ‘A’ 3 Ga 5 & AF
foae & 99 40 T @R w1 ¢ |
faenfed ‘B’ i ‘C’ & WHR, AT
HETT: 75 3R 90 & ; 3 TFH foae
SHETT: 10 4T 18 ¢ | Tgerteat i Giraar
% TR ShH T AT Y

(A) A, B3RC

(B) C,B3RA

(C) B, A3RC

(D) C,A3RB

ffied & 9 waras  3uged
“TIIUIHT T HY A R T TR W
TS R o T Bl W& B b o
TR e ST ek €

(A) “t’ THeToT

(B) “F’ w¥err

(C) “FrE-TeITR TLIeToT

(D) SUgH | | Hig 7@l

TH TR F 400 H At H 20 Froqor
TET 3T H | W AT %,
SHT 300 H A H 10% 00T SRqE
3O H | g Sred & o fm weie
QR T ¥ S fefa § ufteenar @
I AT IR0 U TR ST Tk € 2

(A) WRe A (F-Te8 W) &t

TSR ST TRIRTOT

(B) TSRS 3T (Teh-To5 TRI&T0T)
HeheT hT IRIeqoT

(C) = ufdeel U (5-q=5 udieon)
& ST 3T St Grefehdl Sl TRIeToT

(D) 3 UfdRel SO (Th-Je5 IXreTon)
& e 3T ! Trefehell o1 TRI&T0T
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29.

30.

31.

32.

33.

Strategies and policies

(A) are not closely related

(B) give direction

(C) are the framework  for
performance appraisal

(D) both (A) and (B)

According to Vroom’s Expectancy

Theory of Motivation,

(A) Force = valence divided by
expectancy

(B) Force = valence x expectancy

(C) Force = strength of an
individual preference for an
outcome

(D) Valence = probability that a

particular action shall lead to a
desired outcome

In the managerial grid, the managers
who have little or no concern for
production but are concerned only
for people are known as what type of
managers ?

(A) 1.1 Management

(B) 5.5 Management

(C) 9.1 Management

(D) 1.9 Management

According to the Boston Consulting
group, a business, which has a strong

market share in a low growth
industry is referred to as a

(A) Dog

(B) Cash Cow

(C) Star

(D) Question mark

Which of the following are major

principles of leading ?

(i)  Principle of motivation

(it)  Principle of continuous
development

(iti) Principle of
objectives

(iv) Principle of open competition

(v) Principle of communication
clarity

Select the correct answer from the

codes given below :

Codes :

(A) (i), (i), (i), (v)

(8) (i), (i), Gii), (iv), (v)

(C) (i), (i), (iv), (v)

(D) (), iii), (v)

harmony  of

Paper-111
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34.

35.

36.

37.

The following are the steps of

management control process :

(i) Taking corrective action from
standards

(i)  Establishing standards

(iii) Measuring actual performance

(iv) Comparing performance
against standard

Select the correct sequence of these

steps from the codes given below :

Codes :

(A) (@), (i), (iii), (iv)

(B) (i), iii), (iv), (i)

(©) (i), (iv), (i), (iD)

(D) (i), (iv), (i), (iii)

Consider the following :

(i) Planning is today’s action for
tomorrow’s decision.

(i) Planning is forward looking
while controlling is looking

back.
(ili) Motivation is about getting
voluntary  willingness  of

subordinates for action.
(iv) Line and staff organisation is
the oldest form of organisation.
Select the correct statements from the
codes given below :
Codes :
(A) (i) and (iii) are correct.
(B) (i), (ii) and (iv) are correct.
(C) (i), (iii) and (iv) are correct
(D) All are correct.

Which is not one of the stages in the
consumer buying-decision process ?
(A) Purchase decision

(B) Post-purchase behaviour

(C) Problem recognition

(D) Cultural factors

At which stage of product-life-cycle
are the pricing decisions most
complex ?

(A) Decline

(B) Growth

(C) Introduction

(D) Maturity
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29.

30.

31.

32.

33.

I T A

(A) = w9 F Gatud T8 erdl § |
(B) feemFewraat e |

(C) & IR Jodioh & o/ S € |
(D) (A) 3R (B)TATE |

IA & ANIROT & yEnn fesTa &

3TER

(A) ST = TR FRT fawneta arqed

(B) T = Qe X HeAmen

(C) ot = Uiy & foat Uesh =AferT
ERERIREIRIES)

(D) WM = Jg WEAT o U fow

frar sfod ooy W WE o

SR

Ym0 39 gaweh, e
WA SART ¥ 7 1 7 g %
i T &, ! [T THR & Y hi
TE ST ST & 2
(A) 1.1 T
(C) 9.1 v

(B) 5.5 uay
(D) 1995w

A FHfeT JU & TR T T4,
et e =1 fae X A S A
(A) ‘=T

(B) ‘& #HS

©C) ‘=R

(O)

Frfafad | ¥ A9 & & fagr &
qE?

(i)  STNTROT 1 gt

(i) Had T = g

(i) SETAT DT T B (GG

(iv) el wfaener 1 fagr

(v) TOR Tl H g

T f58 el | T I H AT
&<

(A)
(B)
(©)
(D)

(1), (i), (iii), (v)

(1), (i), (iii), (iv), (v)
(1), (iif), (iv), (V)

(1), (iii), (v)

D-08-13
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34.

35.

36.

37.

Tary FrE=AoT Ufskar & Qo fEtetEd €

() U (AT "R ¥ GERIHAS
SRl

(i) A S HEAT

(iii) aTEATa IR ST 919

(iv) AF® % foeg FomeT &t qer
HEAT

T 8 F ¥ T WON H OWE FwH

9T

&<

(A) (), (i), (i), (iv)

(B) (i), (i), (iv), (i)

(C) (iii), (iv), (i), (ii)

(D) (D), (iv), (D), (iii)

frfefad o faam &

(i) THacH, F & HEA & AT o
H FEE T |

(i) TEsE, 9o & e @ e

STeifer a0 9 W 3E

TicdTe, STeer Al & H

% forr Wifess® TE=T 9= & av

qE

(iv) ST WS WE (@ T FHEN)
G T A GeH ¥ ¢ |

e {52 el @ TE BT B TIT B

E

(A) (i) &R (iif) FETE 1

(B) (i), (ii) # (iv) W ¥ |

(C) (i), (iii) 3 (iv) W& |

(D) S

SUIAT -0 UTshaT @i Tast |

e o 9 i 9t e e 11§ 2

(A) A=

(B) ISR SFIER

(C) THET H YgdH HEAT

(D) WEFH T

SCHE-STieA-Tsh ot fohd STaen | good
ot waittues Sifeet 8iar & 2

(A) =EEH

(B) g

(C) v

(D) uRYsEar

(iii)
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38.

39.

40.

41.

Which one is not an element of
market logistics ?

(A) Inventory

(B) Order-processing

(C) Warehousing

(D) Supply chain management

Under  which legislation, the
manufacturers and distributors are
required to declare Maximum Retail

Price.  (MRP) on packaged
commodities ?
(A) The Bureau of Indian

Standards Act, 1986

(B) The Consumer Protection Act,
1986

(C) The Standards of Weights and
Measures Act, 1976

(D) The Essential
Act, 1955

Commodities

In modern marketing, which of the
following functions of a distribution
middleman is gaining maximum
importance ?

(A) Making persuasive
communication

(B) Price negotiation
(C) Keeping adequate inventory
(D) Gathering market information

Which method of setting the
advertising budget of a company is
considered to be the most scientific ?

(A) All-you-can-afford method
(B) Percentage of sales method
(C) Competitive-parity method
(D) Objectives and tasks method

Paper-111
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42.

43.

44,

Match the items of List — | with those
of List — Il and indicate the correct
combination from the codes given
below :

List—1 List— 11
(i) AIDA (a) Consumer
Model behaviour

(if) Hierarchy of (b) Marketing

effects communication
model
(iii) Howard (c) Consumer
and Sheth buying-
model decision
process

(iv) Information (d) Advertising

search effectiveness
Codes :
@@ (i) (i) (iv)

(A @ (b (© ()
(B) () () (d (@
€ () (d (@ (0
(D) @ @ () (b

Inability of the firm to meet its

obligations results in financial

distress which may lead to

bankruptcy  resulting into  the

following :

1.  Distress sale of assets at lower
price.

2. Legal and administrative costs
for bankruptcy.

3. Dilution of  stakeholders’
commitment to the firm.

4.  Stretching of payments to
suppliers and creditors.

The direct costs of such financial

distress may be

(A) land4

(C) land2

(B) 2and3
(D) 3and4

Mutually exclusive projects can be

more accurately ranked as per

(A) Internal rate of return method

(B) Net Present Value Method

(C) Modified Internal Rate of
Returns Method

(D) Accounting or Average Rate of
Return Method

D-08-13



38.

39.

40.

41.

i Teh SR o [od<or o &1 37ede
T T2

(A) =9
(B) TR UHIA
(C) erur

(D) 3T oG Teer

P A & oFwid fafamret iR
fomenl o fesamea=s (Uhse) avgell W
ATYHaH FeH HIFT (MRP) &1 HTEOT
AT TR & 2

(A) TRA™ AE SR AT, 1986
(B)  SUISRIT TR&T0T 31T, 1986
(C) ¥R Ud A qHeH AaH, 1976

(D) TETEH axq A, 1955

syt foqum o, famor wer &
fafafed & 9 =9 9 FE Aasan
e 3T i & ?

(A)  ITIFAHF HAR FHEl

(B) I I WSS AT

(C) v Thel TG

(D) SR g1 ThA Ll

F & {oRT S 6l s Hl HT
fafyy opr Garifies ST T ST & 2

(A) FHEER =7 faf
(B) ookt =1 wicqeret fafer

(C) wfcTomeTeres-TaT fafy

(D) 329 wd %M fafy

D-08-13
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42.

43.

44,

gt — | &l AT @ g — || ARl

ey gHferd SR A T Fet T Tal
=i - | =it - 1
(i) AIDA @fed  (a) U=
IR
(i) = ® (b) ToqUH H=R
TR
Hrget
(iii) BESTE S (C) UM
Hed -
EIED
(iv) gon @S (d) fasme
ERICNIC]
FHT
(i) (i) (i) (v)

(A @ b (© (@
(B) () () (d (2
€ (o) (d (@ (0
(D) @ @ () (b

T % U SIfFedl Bl R HA B

STRTAAT T GO {oiid Hehe ol BT &

T feanferars &t SR U Y ek 8,

gftoree: fefaiad & g e,

. =9 ®bal W uRkgmtaE 6
T forsha

2. fearforme @ wEeEa & ol

A TAT TR AT
3. fofy= wmel w w0 % uild
FATEFT T &FoTT
4. SAiaEaTsT R RIS W
PTAA fereaie g
T fori Tehe i Ul ST &
(A) 134 (B) 23R3
(C) 132 (D) 3 34

TRENE €9 ¥ 3 IRASHIST i
3MYeh 3Te & W v foresh TR
fepa T ke & 2

(A) TR T & TH1d

(B) THoret o Todr Ui

(C) MY ST=iie U™ 3T Uit

(D) @A AT S T & TB 1
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45.  Which one of the following does not
constitute a Standalone Risk Analysis ?
(A) Simulation Analysis
(B) Break-even Analysis
(C) Corporate Risk Analysis
(D) Scenario Analysis

46. Financial leverage in a firm is
positively affected by
(A) Intensity of tangible assets
(B) Operating leverage
(C) Profitability
(D) Tax Rate

47. Which combination of the following
two statements (A) and (R) is correct ?
Assertion (A) : The IRR of a

project is the discount rate
which reduces its NPV to zero.
Reason (R) : A project is worth
accepting if the IRR exceeds
the cost of capital.
Codes :
(A) (A)is right, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

48. Assertion (A) : A company should
pay minimum dividend to its
shareholders.

Reason (R) : Dividends are
heavily taxed than capital
gains.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A) is not correct, but (R) is
correct.

(D) (A)is correct, but (R) is wrong.

49. Dividend irrelevance hypothesis is
implied in the
(A) Traditional Model
(B) Walter Model
(C) Gordon Model
(D) M.M. Model

Paper-111
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50.

51.

52.

Which one of the following does not
serve the main objective of
performance appraisal ?

(A) Developmental uses

(B) Administrative uses

(C) Ethical and moral values

(D) Organisational objectives

Statement (I) : Job evaluation is a
technique of assessing the
worth  of each job in
comparison with others
throughout an organization.

Statement (I1): Job evaluation and
job rating are one and the same
for employees’ appraisal purposes.

Codes :

(A) Statement (1) is correct, but
Statement (11) is incorrect.

(B) Statement (Il) is correct, but
Statement (1) is incorrect.

(C) Both the Statements (1) and (1)
are correct.

(D) Both the Statements (1) and (1)
are incorrect.

Match the items of List — | with the

items of List — Il and select the
correct answer :
List— 1 List— 11
(i) Job (@) Involves conscious
Rotation efforts, to organise

tasks, duties and
responsibilities into
a unit of work to
achieve certain

- objectives.
(i) Job (b) Involves movement
Design of employees from
job to job
(iii) Job (c) Seeks to improve
Evalua- both task efficiency
tion and human

satisfaction and
more opportunity

for individual
growth
(iv) Job (d) The formal process
Enrich- by  which  the
ment relative worth of
various jobs in the
organisation is
determined for pay
purpose.
Codes :
(i) (i) (i) (iv)

(A) (@ (b) (c) (d)

S8 68 8
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45. UHA SitEH favewor efaied § 9
I T TG & 2
(A) 3TTET faveryoT
(B) wH-fa=sT favermor
(C) fm siifEw fageroor
(D) ufgea fageroor

46. TS ®H H foadig SHie GHRIcAS €9 9
wTfere el &
(A) T IREET S FEFaT §RT
(B) UReme 3ot §RT
(C) eI 51T
(D) =X = T ERT

47. frefafEd 3 $2H0 (A) T& (R) HT DA
T GASH T T 2
AfHeA (A) : URAST H RS
T & 9 91 5T & SN 366 E
T God H FY b T
TAE |

FRUT(R) 3K Rk J™ &
St #w ara @ ey € oAt
TR THHR A T & |

E

(A) (A) T g, W (R) Tord ¢ |

(B) (A) 3R (R) 3T @&t € |

(C) (A) T & R (R) Tl ¢ |

(D) (A) 3R (R) HI Tord € |

48. afWweH (A):UH wH  H A

APl Bl A AT ST
M |

HROT(R)  : US{T o &6 qorn o
AR IR ATeeh S TR STl € |

&<

(A) (A) 3R (R) I T & |

(B) (A) 3R (R) I Toid & |

(C) (A) Tl =& &, W] (R) Wl & |

(D) (A) W&l & = (R) T & |

49. AT STUTHTSRAT URehedT (Hied &
(A) URERS AT §
(B) dTe=X UiaE= |
(C) e Uiqq = o
(D) wAuH. ufaa=
D-08-13
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50. FWEA qEEA & YT H
fAfetfad & & F T A& Xl ¢ 2
(A) TS 3TN
(B) eI SUANT

(C) +ifawes ud A goa
(D) HIeHAcHS e

51. arfwsmer (1) : S qodishd, R EeT
e mwmaﬁwﬁ
o3 i 3MHTH e Tl I & |

atfiremer (11) : FHA & godid &
T Y TE gFiwd R S
SO T SR TH S T |

T4

(A) T (1) & E, W= AT
(1) T & |

(B) 3afwre (1) @ & W
e (1) 7oA € |

(C) atfiweper (1) R (11) 3 Wt € |

(D) afirper (1) 3% (11) S Terd € |

52. et — | & AT & g — || @ 7S &%
wgﬁ%ﬁaﬁaﬁrwﬁaﬁww

uﬁr | = -

(i) S (2) T ST B I B
& for & ot T |
1, el 3T
SRSl TS
FH % AN T H
Hraryd € |

(b) FHHE=ET 61 TH A
T i S
T T |

(C) I &THaT qdT A
A T GERA
=T 3 A orAeh
Torep™ & ST TR

(d) ar st ik
e gRT |e |

g & ol Tt it

o oS Jod
FuRoT e ¥ |

(i) S

(i) st

(iv) st

() (i (i) (iv)
(A) (@ (b) (c) (d)
(B) (d () (b) (a)
(C) (© (d (b) (a)
(D) () (@ (d (o
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53. Assertion (A) : Merit rating of an

Reason (R)

Codes :

(A) Both (A) and (R) are correct,
and (R) is the right explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

(C) Both (A) and (R) are incorrect.

(D) (R) is correct, but (A) is incorrect.

employee is the process of
evaluating  the  employees
performance on the job in terms
of the requirements of the job.

: Employees’ merit
rating is a technique for fair
and systematic evaluation of an
employee’s  capacities and
abilities and performance on
the specific job.

54. The major provisions for employees’
health and safety are contained in

(A)
(B)
©)

(D)

The Industrial Disputes Act, 1947
The Factories Act, 1948

The Industrial Employment
(Standing Orders) Act, 1946
The Employees’ Compensation
Act, 1923

55. Indicate your choice through the codes
given below :

1.

A club is an industry under the
Industrial Disputes Act, 1947

2.  Factory as defined under the
Factories Act, 1948 includes a
mine.

3. For purpose of the payment of
bonus to employees, the gross
profits earned by a bank is to be
calculated in the manner specified
in Schedule — | of the Payment of
the Bonus Act, 1965.

4.  Various labour laws do not apply
to public sector undertakings.

Codes :

(A) While 1 and 2 are correct, others
are not.

(B) All the statements are correct.

(C) Only 1 is correct, others are
incorrect.

(D) Only 1 is incorrect, all others are

Paper-111
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56.

S7.

58.

(if) Herzberg

Match the items of List — | with the
items of List — Il and select the
correct answer :
List—1 List—11
(i) Abraham (@) Achievement
Maslow Motivation
Theory

(b) ERG Theory

(iii) Alderfer (c) Two Factor
Theory
(iv) McClelland (d) Need Hierarchy
Theory
Codes :
(i) @) (i) (iv)

(A) (@ () () (d)
(B) (d () (b) (a)
€ (© () (3 ()
(D) (d) () (8 (b)

Assertion (A) : The Central Bank
of the country is responsible to
maintain  stability of the
monetary  standard  which
involves currency circulation

Reason (R) : The Central Bank is
the only authorized entity to do
SO.

Codes :

(A) (A) and (R) both are correct.

(B) (A) and (R) both are incorrect.

(C) (A) is correct, but (R) is
incorrect.

(D) (R) is correct, but (A) is
incorrect.

Identify the quantitative credit control
methods among the  following :
(i) Bank Rate

(i)  Credit Rationing

(ili) Open Market Operations
(iv) Variable Reserve Ratio

(v) Selective Credit Control
(vi) Liquidity Ratio

Codes :

(A) (i), (i), (iii) and (iv)

(B) (ii), (iii), (iv) and (v)

(C) (), (i), (v) and (vi)

(D) (i), (iii), (iv) and (vi)
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53.

54,

55.

Afiped (A) : FHIRT B AT BT
SHHTSR-T, STl Sht STUETTRT o T
T S W HHAE & FoIeT
oo e B AR T |

FHRUT (R) . HUAIET ® A
FHaiH, fafere Sie w SHHaEr
T ST AT TTTe Sl HogeT
3R Al godied wRA H
THAH ¢ |

&<

(A) (A) R (R) sHi @&l € 3R (R),
(A) Tt TE AT T |

(B) (A) 3R (R) sHi el €, = (R),
(A) Ft Tt AT T E |

(C) (A) 3R (R) SHI TeAd € |

(D) (R) W& e, =g (A) T ¢ |

FHHANAT & W T G & oo

e v fohad fHfga € 2

(A) Tt foems stafad, 1947

(B) heredt sifufad, 1948

(C) o= ASHIR (WA 3T
gt 1946

(D) THHERI et gy, 1923

T 5% Pl ok AEAY F AU Toshed

HucicTe

1. TEnnTe fgers ttutam, 1947 &
AT Teh FoAsl I & |

2. el IAaFEH, 1948 % IaAd
gfefee el O @eE WiEA ¢ |

3. HUGIREAT Sl G B IAE HA
% fo18, S g0 SUITSTd Tehel ATl
H MOET TG P I,
1965 i 3rgHl-1 ¥ fAfse &1 &
ATAR FA T |

2
oo

4, o= s S gESE 8 %
AT T @] el &t € |

(TA) et 1 3R 2 W €, o7 Wel T
g

(B) T e Wl € |

(C) et | Wl &, 3T ToTal € |

(D) % 1 7Tord €, o7 it W € |
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56.

S57.

58.

gt — | | & AR g - || e

e gHferd FITT 3T el ¥ TEt 3
T T B
= - | =t - 1
(i) Tomey rEel (@) SUctie
STRTUROT
fagm=
(i) @stert (b) ERG fagr=
(iii) TSR (c) -FR®H
s
(iv) Bt C)RECERED
o g
ETE
(i) (i) (i) (v)

(A @ (b (© ()
(B) (@ () b @
€ (© B @ (@
D) @ (@© @ (b

AMMHY (A) : I A HRT &% HisH
TR &7 vEw & o SaEE g |

HROT(R) U A & o whae
T Tl g Sk &1 ¢ |

E

(A) (A) 3R (R) T &t € |

(B) (A) 3 (R) I Toid & |

(C) (A) Wl g, W (R) T & |

(D) (R) W& &, W= (A) Tord ¢ |

fFrtafad 5 9 aRemones ot =
(i) THT

(i) 0T TR

(iii) {ESIRCIRINESEIN
(iv) ORedr o ST
(v) TEECHS 0T =T
(vi) RO ST

E

(A) (), (i), (iii) 3 (iv)
(B) (i), (ii), (iv) 3 (v)
(©) (), (i), (v) ¥R (vi)
(D) (i), (i), (iv) 3R (vi)
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59.

60.

61.

62.

The following activities are mainly
related to which organization ?

(i)  Micro Finance

(i)  Rural Finance

(iii)  Self Help Groups

(iv) Cooperative Banks Finance

(A) Industrial Finance Corporation
of India

(B) Ministry of Finance
(C) Reserve Bank of India

(D) National Bank for Agriculture
and Rural Development

PIN in banking transaction is known
as

(A) Postal Index Number

(B) Permanent Identification
Number

(C) Personal Identification Number
(D) Public Interlocking Numeric

Reserve Bank of India

nationalized on

(A) January 26, 1948
(B) January 01, 1949
(C) January 26, 1950
(D) January 01, 1956

was

When a banking company is placed
under moratorium under Section 45
of the Banking (Regulation) Act,
1949, the RBI must prepare a scheme
of

(A) VRS for staff
(B) Capital Buy-Back
(C) Reconstruction of the company

or amalgamation with any
other bank

(D) IPO of the bank
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63.

64.

Match the following items of List — |
with List—11 :

List—1 List— 11
(i) SWIFT (@) 1996
(i) NEFT (b) 1988
(iii) BASEL | (c) 1973
Accord
(iv) BASEL II (d) 2004
Accord
Codes :
(i) @) (i) (iv)

A @ b @© (@
(B) () () (@ ()
€ @ (© (b @
(D) (© (& (d) (b)

The main features of TRIMS are :

(i) All restrictions on foreign
capital are imposed.

(i) No restriction is imposed on
any area of investment.

(iii) Restrictions on repatriation of
dividend is eliminated.

(iv) Imports of raw material is
allowed freely.

(v) No
foreign investment.

limit on the extent of

Indicate the correct combination
(A) (i), (i), (iii) and (v)
(B) (ii), (iii), (iv) and (v)
(C) (iii), (iv) and (v)
(D) (iv) and (v)
D-08-13



59.

60.

61.

62.

frefefad nfafatat gerd: feg g
T Fratad & 2

(i) em fod

(i)  wTHoT fo

(i) %o Ferdl W e

(iv) TeHRI o fo

(A) YR ST o

(B) Toxd A=Ior

(C) wRdm R=id d
@gﬁwwth%W%

% F e § fu (PIN) 7 310w &
(A) U ST e

(B) UHME SMESTHHIA e

(C) UGt 3MESeIHhe ok

(D) TiseTsh SeXaiiieRT AR

TR STl oo 31 TIFah0T g7l o1
(A) 26 STERI, 1948 i
(B) 01 SF&RI, 1949 &t
(C) 26 SF=RI, 1950
(D) 01 SHeRI, 1956 i

atafTem, 1949 1 URT 45 & AT ROT
T % A @ S g, IR
fstd 9% # e ¥ 9 AT daR
FHAT T

(A) FHERET & o1 o, AR .

(B) ST oo =l

(C) wwr &1 YAMHT a1 7= Tt
b o QT ThIHOT

(D) i T TS,

D-08-13
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63.

64.

Tt — | =l =El & gt — || wF Al
T AT Y
=it - | =it - 11

(i) Faw (as=g e (a) 1996
THA)

(i) 79 (WIuwa)  (b) 1988
(iii) ST 1 i (c) 1973
(iv) 9T 11 g (d) 2004
FHT:

@ (i) (i) (iv)

A @ b @© (@
B) () () (@ ()
€ @ © b @
(D) (© @ (d (b

fea@ (TRIMS) i g7 fowivan €

() foel Oot W ol ufaey STRifud
AT |

(i) T7orer o ferdll ot & WX 1S widey
TEl AT ST 2 |

(i) @9E & UAEGT W ey
T T A T E |

(iv) =T U 1 AT Ea 9 d
fopar <t W &

(v) Toeh feer & 9 © @iE uiqey
el
H@F@WW:
(A) (). (i), (iii) &R (v)
(B) (i), (iii). (iv) 3R (v)
(C) (i), (iv) 3R (v)
(D) (iv) ¥R (v)
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65.

66.

67.

Assertion (A) : TRIPS requires an
understanding about the scope
of the new patent regime.

Reason (R) : Patent protection
will be extended to micro
organisms, non-biological and
micro-biological processes and
plant varieties.

Codes :

(A) (A) and (R) are not related with

each other.

(R) is related with (A).

(A) is independent of (R).

While (R) is related with TRIMS,

(A) is related with TRIPS.

(B)
(©)
(D)

Possible impact of WTO on various
aspects of the Indian economy :
(i)  Quantitative restriction will be

allowed.

(i) Second hand cars will be
imported.

(i) There will be dumping of
Chinese goods.

(iv) Increase in population.

(v)  Child labour exploitation

(vi) Unemployment will increase
Which combination is appropriate ?
(A) (i), (i), (i)

(B) (iii), (iv), (v)

(C) (i), (iil) & (vi)

(D) (iv), (v) & (vi)

Assertion (A) : Economic
integration  abolishes  cross-
national economic
discrimination.

Reason (R) : Geographical
proximity is an important
reason for economic integration.

Codes :

(A) (R) does explain (A).

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are not correct.

(D) (A) is correct, but (R) is not
correct.
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68.

69.

Match the items of List — | and items

of List — Il and select the correct

answer :
List—1 List—11

(i) Free Trade (a) MERCOSUR
Area

(if) Customs (b) European
Union Union

(iii) OEEC (c) EFTA

(iv) Common (d) Marshall
Market Plan

Codes :
() (i) (i) (i)

A @ b @© (@
(B) (0) (d (@@ ()
€ (© @ (@ (b
D) @ «© b @

Assertion (A) : A futures contract
specifies in advance the
exchange rate to be used, but it
Is not as flexible as a forward
contract.

Reason (R) : A futures contract
is for specific currency amount
and a specific maturity date.

Codes :

(A) (R) is a correct explanation of

(A).

(R) is not a correct explanation

of (A).

(A) and (R) are not related with

each other.

(R) is irrelevant for (A).

(B)

(©)

(D)
D-08-13



65.

66.

67.

e (A) : fow@ &t 78 U= woTedt
& e & g | OSSR
JMETHAT & |

FHRUT(R) U TR0 GeH S,
RS T2 Gad Aok wishaa
A diy feret e forgantya & |

(A) (A) 3R (R) TH T& T Frafed
TIE |

(B) (R), (A) % Tg Trafed & |

(C) (A),(R)T@T= ¥ |

(D) s@® (R) w1 U=y o
(TRIMS) & @™ &, (A) fem &
i & |

IRAE g & O Jgofel W

farve AR G &1 GHIad T9

(i)  URETCHS Hfdae oRTET ST HB |

(i) IR R T AT BT SR |

(ili) T TGS P TR MR |
Uheh feam ST |

(iv) SHEET ¥ gig |

(v) STeT o1 T 99T |

(vi) SRISTTRI | gig gt |

DI T G T & 2

(A) (), (i), (iii)

(B) (i), (iv), (V)

(C) (i), (iii) 3T (vi)

(D) (i), (v) ¥R (vi)

A (A) : TIF THIHT T F
?ﬂaﬂ%ﬁwwmm
|

HRUT(R)  : diiieiss Hepear o
TSI & ol a9 HROT T |

E

(A) (R), (A) F AR HAT € |

(B) (A) 3R (R) I+ TEl & |

(C) (A) 3R (R) 3T Wel el & |

(D) (A) W& &, g (R) W& T ¢ |
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68.

69.

gl — | | < AR gl — || we

ey gl Y 3R A 5T F2f ¥ W
T T Y
=i - | =t - 1
(i) WAT=AR (a) THYYMER
COSUR
(i) Fryes @ (b) A 99
(iii) L. () TURAT.
(OEEC) (EFTA)
(iv) ®mF dehe (d) TR FeT
ETE
(i) (i) (i) (v)

A @ b @© (@
(B) (b) (d) (&) (o)
€ © (@ (d) (b
D) @ © b @

arfreper (A) : aret dfaer, e fafma
TT BN IYAAT T ST 39 TR
& Iooi AT Il §, W Tg el
T FE e § A f ares
HferRT |

HROT(R)

FHEHT T 3R G e

fafer & foTe et & |

(A) (R), (A) o T&l == & |
(B) (R), (A) = W& =amea &l ¢ |

(C) (A) 3R (R) T% §W &% &Y
Hrafeee el & |

(D) (R), (A) % fow emmEfTs & |
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70.

71.

72.

Out of the following, which are the

important objectives of IMF ?

(i)  To promote exchange rate stability

(i)  To create standby reserves

(ili) To print International currency
notes

(iv) To establish a multilateral
system of payments.

(v) To maintain orderly exchange
rate stability

(vi) To create employment

Codes :

(A) (i), (iv), (v), (vi)

(B)  (iii), (v), (vi)

(C) (), (i), (iv), (V)

(D) (@), (i), (v), (vi)

Given that :

Fair rent of a let out house property
is ¥ 75,000. Its Municipal value is
% 60,000, standard rent is ¥ 72,000
and actual rent received is ¥ 63,000.
What is the Gross Annual Value of
this house property ?

(A) 60,000 (B) 63,000
(C) 72,000 (D) 75,000
Match the items of List — | with the
items of List — 11
List— 1| List— 11
(i) Amount deposited  (a) 80-1A
in PPF
(i) Profits and gains (b) 80G
from undertakings
engaged in
infrastructure
development
(iii) Contribution to (c) 80-1AB
National Defence
Fund
(iv) Profits and gains by  (d) 80-C

an undertaking
engaged in the
development of
Special Economic
Zone
Codes :
(i) (i) (i) (iv)
(A) () (© (b (a
(B) (d (& (b) (c)
C) (d (@ (c) (b
(D) (B @ () ()

73.

74.

75.
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Which of the following deductions
will not come under Sec. 80 of the
Income Tax Act ?

(A) Deduction in the case of a
person with disability

(B) Deduction for interest paid on

loan taken for pursuing higher

education

Deduction for interest on loan
taken for the construction /
purchase of house property

(©)

(D) Deduction for repayment of
any instalment of principal
amount borrowed for the
purchase / construction of

house property

X purchased a land in the P.Y. 1997-
98 for ¥ 50,000. This land was sold
by him during the P.Y. 2009-10 for
T 8,00,000. The fair market value of
this land on 1-4-81 was ¥ 1,20,000. If
the Cost Inflation Index for the A.Y.
2010-11 is 632, his capital gain for
the A.Y. 2010-11 will be

(A) % 4,84,000
(B) % 7,50,000
(C) % 6,380,000
(D) % 41,600

Any amount of money received in
excess of < 50,000 without
consideration is fully taxable in the
hands of

(A) Individuals

(B) Individuals and HUF

(C) Individuals, HUF and Company
(D) All assessees
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70. SMETANE. % Hewd{ol 3e¥d Fr=feiiad

THFTE?

(i) fafma s %t ferar & agmEr 3 |
(i) AT Retd gistd e |
(ili)  STRISET HEA Al qigd HT |
(iv) SEURTR T JOTC T e |
(v) oA fafma @ o# fera

TS & |
(vi) TUSTIR GRoId T |
E
(A) (D), (iv), (v), (vi)
(B) (i), (v), (vi)
(C) @@, (i), (iv), (v)
(D) (@), (i), (v), (vi)

71, TE A % R W K T8 wer we
1 St @ 75,000 & 1 S
TR Gt T 60,000 T, TATIT fohra
T 72,000 & A W o&drees R
63,000 € | S9 HebM GH 6T Hehol

e ot T & 2
(A) 60,000 (B) 63,000
(C) % 72,000 (D) 75,000
72. gAE - | W HRT B GA — || B R F
ey gaferd
=it - | =t - 1

(i) PPFHSM & T (a) 80-1A
s

(i) sTETE EETE (b)) 80G
faerr T O 17 UTaeHT
T N T Wi |

(i) e T ff =
AR

(iv) WWW?M) 80C

forepma O 17wl
FRT T e it
E

(i) (@) (i) (iv)
(A) d () b (@
B d @ (b ()
€ d @ () (O
D) ) (@ () ()

D-08-13
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fAfafad 5 ¥ S 9 HaAaar e
FUTTIH i &R 80 o = T8l I 2

(A) eTfest AT & T § FHerdt

(B) 3= R weu & &g fod ™
T W AN & PAaE gt
Frl |

(C) T& wmfd & FHvIFT & &q
o ™ R W AN & aE
T el

(D) T& mfa & FEvET FA Eq
o1 T4 T ROT i TR o ST
T I

X’ J T a9 1997-98 | T 50,000 H T
TR | T8 9 H T a9 2009-10 §
¥ 8,00,000 & S T | 1-4-1981 @l
3T M T 3T TR 77 T 1,20,000
T | Ifg T FEROT a9 2010-11 | AW
TRITT o 632 &, a HY ERoT ag
2010-11 H ST YT 1 &I

(A) % 4,84,000

(B) ¥ 7,50,000
(C) % 6,80,000

(D) T 41,600

T 50,000 T ATk ig off T fom fomelt
Tfqwer & U @ T BT AN e At
WWWN

(A) =T

(B) &R wd &5 SAfawed uRar

(C) =afwm, Teg offovem WRER &
FHEAT

(D) Tft FIETT
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